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Section A (40 marks)

For each question from 1 to 20, four o
the correct option (1, 2, 3 or 4y and s

ptions are given. One of them is the correct answer. Choose
hade the comect oval on the Optical Answer Sheet (OAS).

1 The table below shows how some living thing§ can be grouped.

Living things

Insects

Which one of the following is the most suitable heading for group X?

N fish

2y . fungi
3) bacteria

) mammals

- 2 Glass is used to make window panes because it
1) is shiny
) sinks in water
3) is transparent

i conducts heat very well

3‘ . One function of a stem is to

1) . store food for the plant
2 store axygen in the plant
3 take in dissolved mineral salt

% hold the plant firmly to the ground
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4 What is the main function of the stomach?

1) it digests food with digestive juices.
2 {t absorbs water from undigested food.
3y it allows water to be passed.into the blood. -

A It removes undigested food out of the body.

5 The diagram below shows the fife cycle of an animal.

‘ adulf

=

egg

Which animal is likely to have the life cycle as shown above?

pupa

duck

), dc
? | lizard
) i mosquito
. %) . grasshopper
"6  Inwhich one of the following-will:fiié two magnets be attracted to each other?
s N 7N
S . N
‘N
3_) ' ; J,)
N SN 5
N S

+
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7 Which - one of the folloWing items can be attracted by a magnet?
1) iron bar
2) - plastic bar
3) rubber bar
AS wooden bar

8 The diagram below shows a gif reading a book.

. é—h famp

_book on table

Which one of the following diagrams shows why the girl can read the book on the-table?

Direction
of fight

4
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Which one of the following diagrams shows the correct way to measure the temperature of

a beaker of water?

D

)

3 4

10 Cahf_in boiled.some water using the metal pot shown below
. | ;il.asﬁC:'handlés

He is able to hold the pot of hot water by the plastic handles because plasticis a

t -light material

7y  ~durable material -

3) poor conductor of heat
4) - good conductor of heat
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11 Matter is anything that has mass and occupies space.

Jolina created a list of matter as shown below.

Things
air - light sail clay
water balloon plasticine ~Sounds

How many things should not be in her list?

) IR
32) -2
S 3
4) 4
12 The classification table below shows the properties of 3 substances,; X, Y and Z.
Property Substance
X Y 2
Has definite volume Yes - No Yes
- Has definite shape No No Yes -
" Canbe compressed No Yes No
‘Which one of"the following cofrect!y represents X, Y and Z?
X Y Z
M milk oxygen _ water
2 honey “milk sand
(3) water | air oxygen i
4) honey carbon dioxide sand
13 Which one 6f_the following is not a light source?
1y _ 3y
o . N f.,
/O“\“‘ h
SQ!‘I
' \ @/
candte flame lighted bulb
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14 . The diagram below shows the life cycle of:a butterfly.

Stage 3

At which stage(s) of the life cycle of the butterfly will there be little or no movements?

)  3only

2 1and 2
3y tand3
A 2and4

15 Which one of the folloWing shows the correct life cycle. pf.a'ﬂbweﬁng.plant? .

/ seedllng

frunt seed
\ adult /
plant
adult
/ plant \'
fruit - seed
- seedlmg /

.
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16 Which one of the following shows the correct way to make a nail into a temporary magnet?

D L 2

3 v

17 A tmugas shown below is placed between a torch and a screen:

=

torch ‘ mug

screen

]

Which one of the following shadows below cannot be cast:by the mug?

D o 2)
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18 Jack took an empty glass, inverted it and pushed itinto a basin of water. He noticed that
there was some water in the glass: ‘ : ‘

inverted glass beaker

f—'_/’_

basin

water

" What can he conclude from this experiment? P Cr

| Air has mass. SR :
3) . Aircanbe compressed.. - - .- |
3) . Thereis air in the water. 'f
4 . Water and air can be compressed.

19 Two glasses were stuck together as shown below.

_Which one of the following would be the most suitable method to separate the two glasses?

D , 2) |
' ' : B kettle of
hot water
basin of .
ice & water
basin of
hiot water
3) 4
— Kettle of
- hot water
basin of

= — hot water
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20" A glass of hot milk is placed into a basin of cold water as shown below.

basin of cold water
hot milk

Which of the following stateménts are correct?

A The ,terhpera_ture of hot milk falls: )

B The cold water gains heat from the- aiiy :
C The cold water loses its heat fo the hot milk
D E

. The hot milk loses its heaf to the cold water.,

1y :“Aand B only
2} SandBpnly
2} ¢ A BandQonly
4) ASGand Qonly
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Section B (40 marks)
For questions from 21 to 34, write your answers in this booklet. The number of marks awarded is
shown in the brackets [ ] at the end of each.question or part question.

21 The diagram below shows Animalt M.

N ¥

Irina said that Animal M is an insect, Tick (v) the statement(s) that support what Irina said.

, Put a tick (v) if the )
Statement statement(s) is/are true.
It can fiy.
Ithas 6 legs. .
It has wings.
Ithas 3 body parts.

22 The diagram shows a' plant.

'€)) Label planf baﬁ Q. {1]
Q-

(b)  Name a substance that part Q takes in to make food. f1]

21 -
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23 The"diagram below shows.the stages in the life cycle of a cockroach. .

A - B | c

Name the stages A and B in the life cycle of the cockroach. Choose the correct words

from the box to fill in the blanks below. , r2] -
“egg larva nymph adut  pipa’
(i) Stage A -.

(i) Stage B -

24 :Mégg,ie placed a magnet near a steel nail as shown below. The steel nail moved towards:
the magnet. - : '

4 ~ - ‘w \
L.
- :l A =, \
- R ot A I

steel nail . magnét

- (a) Fillin the blanks with a suitable»,\.gd:rd.-

The magnet exerted- a an the steel nail. - ol

()  Choose the correct word from thébox to fill in the blank below.

hard magnetic o strong

- Maggie's observation shows that steelis a ‘ __matetial. 1
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25 Tom shines a torch on object Z and-a shadow is formed on the écréen.

, |

torch ' object Z screen

.(a) Filt in the blank below with a suitable word. ‘
. iE s !

! by ai object. e

A 'shadow is formed when light is

. (b) Draw ttie shadow-of object Z that is formed__ on the séreen in the box below.

M

screen
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26  Look at the diagram below,

Money plant . - ~ Morning Glory ) Bean plént

These plarits are known as creepers. They usuaity need support to climb upwards.

(a) Why do"the_se-creepers need support? - (11
(by . Explainwhy itis hgacéssary for the plants to cfimb upwards? - - _ I
(0  Putatick () if the statement is tfif&Ffilse ornot possible fo tell.- . 2]
_ ) | . ‘Not
Statements - Yoo Y True | False.| possible
' fo teill

" | () All ptants grow from seeds.

(i} A plant witﬁ-green_ ledves will make more’
food than a plant with purple leaves. .

(i) Seeds need air, water and waimth to
germinate. Ay A

{iv) Only fungi reproduce by spores.
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27 Jamie set up an experiment in the classroom as shown' below.

Sﬁbstance X

wooden
b[ock

Substance Y

waooden
block

After 2 hours, Jamienotiéed some changes to one of the substances.
(a) What is the state of Substance X and Y at the start of the experiment? . - . [1]

Subsgan(':e X —.

‘Substance Y -

(bj - Describe what had happened to Subsfance Y after 2 hours. (1]

(o . lee an example of what Substance X and Y could have been at the start of the
: -experlment

(1n .

. -Substance X -

Substance Y -
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28 Cofnpare the two life cycles befow.

tadpole - eqgygs
Life cycle of a frog Life cycle.of a chicken
(@) .. Basedonthe life cy,cle,s;: apoﬁe,‘state' 2 differences between them. , . - 121
{0
(it)
(b)  State all the,_stq_ﬁ".’it:fjé;;iﬁ_th__e_f life cycle of a grasshopper.’ | . (1
(©)  Explain why it is nécessary for fiving things to reproduce.- (1
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29 Daniel set up the experiment as shown below.

copper rod

‘U:’—‘ iron nail

Sy

bé'ttery

(a) What will be observed when the switch is closed?

{1

(b)  Explain your answer in (a).

[1

(¢)  Daniel set up ancther experiment as shown below. -

'ma'giii-ét_

Qias_s ‘sheet

4
.

~ " mails

‘What can the glass sheet be re

placed with, so that the- magnet can no longer attract
the nails?

"
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30 Petér set up the experiment as shown befow using 2 identical glass botties, X and Y, that
are connected by a glass tube. ‘

. in_k droplet

L

piastic basin
with hot water

(@) Predict how the ink droplet will move in the above setup after 2 minutes. "1

(b)  Explain your answer in (a) above. ' ’ gkl

H

(c) Without changing the glass bottles or tube, suggest two.changes you-can make to
the original set-up to make the ink droplet move faster. o [2]
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3t Jamie went to the pet store and bought a male hamster.

(@  While cleaning the cage, Jaime wanted to catch the hamster but it ran awa'y.

State two characteristics of living things which the hamster has shown. 2]
(i) SERRETL
ii).

A

) - J'ai‘m.e' wanted. her hamster to have some young. What must she ptace in the cage
1o help the hamster to reproduce? - . : 1]

32 jLizsz took thé Mass Rapid Trar}sit {MRT) to school one morning. She noticed that there
were gaps between the metal rails of the MRT track.

Il

metal rails

P T 3 L XS 2l

~ .
LL AW/l TIML XD Ll
g

(a) Explain why there are gaps on an MRT track. _ {11 -
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32 . in December, Lizzy followed her parents to a foreign country for a holiday. During the day, -

Lizzy observed that telephone w«-rgs were hanging loosely between their posts, as shown in
the diagram beiow. .

telephane
. cables

N\

During the day

(N P

N posts -

- Caloles.

However durmg the nlght she obser\fed that the telephone wercs were hanglng less ioosely
between their. posts as shown in the ‘d:agram below.

telephone -
‘cables

- During the night

ables
(k) Explam why there is a difference in. the way telephone \ACR:Feﬂ hang between their
posts during the day and night. . : [ .
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33 - Jack set up the following experiment with 1060cm? of three different liquids.

torches

!ight SeNsors —

He used light sensors to measure the amount of light that passed through each beaker of
substance and recorded the data in the table below.

Type of substance Cooking Oil Milo -~ Water

Intensity of light (unit) | 100 , o 200

(a) Which of the following would be the ai_m(s) of the experiment? Put a tick (V') in the
correct box(es). , . (11

e L

To test if the volume of.a substance affects the amount '

| of light thé‘t can pass through. : ST

. To tést_ if the state of the ,é;ubstance affects the amp'un_t
- |‘oflight'that ean pass through. Sl

| To testifithe type. of substance affects the amiount of
light that.can pass through.
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33 (b))  Whydid the beaker of cooking oil allow more light to pass throughithan the beaker
of Milo? : - i1

(‘ci Based on the data collected, draw a bargraphi to tepkese_nt'—the resulfs. . i}

Intensity of 4

light (unit) L
T S RO A A EU P T
¥ t - [ 1
3 - . L : ) . :
1 A - ' '
i 1. i . ' -
t t t : 1
- M ! ‘ [ Lo
100~ =~ = A b o
] { : 1 ! [} .
i ! ¢ : ! 1
ot (R | y L 1
el : ‘ i 1 I I .
o ; ;; et . Typeof
cook[ng Milo water _ substance

(d) - State one variable that Jack needs to keep :(::-onstant, to ensitre that the experiment
' is afairtest. ‘ N . . 1]
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34
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- Equal amounts of ice cubes were placed in 4 containers which were of the same size but
‘were made of different materials. :

Méteria‘l ' Material o " Material - Material
A 7 _ B8 B .. C ' ) D

OGRS )
Gl SN
s

The table below shows the time faken for the ice in each container to meit completely.

Material ' T_imei t:fl_!gen jf-c;:' ice to melt (minutes)
A ,' | - 12
B ' A ‘ 40
c ' ' . © 25
D 55

(@) Fillin each blank with #suitable word,

When ice melts, dt heat and changes. from ‘solid state to

statg., . g S

(b) Which material, A, B, C, or D, wouid'be the most suitable for making a container to
keep food warm for the fongest time? D

{©) Explain your choice in (b).
< (1]
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